Quarter 3

Midterm Review

3/25/2014

If ay - cx + by = dx + fy + kx
find the ratio of x to y.
ayq—bg—‘ﬁj = dX +CX tKX

(arb-f) = x (dxC +K)
(oh—cl—l&) ‘a' (dtc

If ay - cx + by = dx + fy + kx
find the ratio of x to y.
Solve for y.
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The centers of two circles with radii
of 1 and 10 are 15 units apart. Find
the length of the common external
tangent.




The centers of two circles with radii
of 1 and 10 are 15 units apart. Find
the length of the common external
tangent.
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The centers of two circles with radii 9 cm
and 3 cm are 16 cm apart. Find the length
of the common internal tangent.

The centers of two circles with radii 9 cm
and 3 cm are 16 cm apart. Find the length
of the common internal tangent.

te?=t?
x*e3hs 4>
x*eq =16

If A= 2
cos A= o

What is the tan A = ?

What is the measure of angle A?

If cos A = 7 r‘k

What is the tan A = ? (—3— ° *x’ 1
o+ >-u9

x =33

x={73

What is the measure of angle A?

05" (cosh) =°"”‘%)
A= cos*'(—i—)

IA = 55.23

Calculate the mean
proportional(s) between 32
and 48.
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Given: QO is inscribed in quadrilateral ABCD.

Calculate the mean A8 =15 .
proportional(s) between 32 (D=3 6
and 48.

32 _ %

x 4§ 0

x*= 1536

%= {as6-b

(‘x = +1b(e | A

Given: (O is inscribed in quadrilateral ABCD. 12 -L‘s'x) . X

AB =15 2 c 2-15 +x L.:ven:):/\)ZU:;é - w

CB=12 _ -
find CDAD =31 0 /‘—M:)( g I Allside of WXYZare tan to drce /

Find : The Perimeter of WXYZ
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“"’E“"‘Y"Z"j;e - lo-x w Ms. Holton is running around Hinsdale and doesn’t

Allside of WXYZare ton 1o drde « K know where she is going! First she bikes 5 miles

1b-X South, then 3 miles East, 2 miles North, 1 mile West,
Find : The Perimeter of WXYZ then finally 4 miles South. How far is she from the
d 2-% where she started?
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Ms. Holton is running around Hinsdale and doesn’t
know where she is going! First she bikes 5 miles

South, then 3 miles East, 2 miles North, 1 mile West,

then finally 4 miles South. How far is she from the

where she started? 2 _a 2
a-f-' e X
*‘i»r'-l"i-—'h1
5 1 93=%
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e

Solve for x:

A. 62
B. 4v2
C. 43
D. 2v/10

Solve for x:
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Solve for y:

Solve for y:

x1-403 6 -
e @a

Solve for x:

.6
. -8
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Solve for x: ﬁm

W
A.6 \z
. (x42)' = 3:12
B. -8 ety o 23
2+d4X -32=0
©4 z‘x+9)lx"*)'°

D.4,-8 x4

Solve for x and y:

Solve for x and y:

x+1 9

x+4 8

g(_x.H) = G(X\“i')
Ix+8= 5x+20

3x%=
x+1 9 el
64 lby= 72

Find the distance between (-2, 9) and
(3, -14).
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Find the distance between (-2, 9) and
(3, -14).

d=  (x2-%) +(ya-9)?
d= (3+2)%+ (a+14)*
d= (5)*+ (a3)*
d={35%

Find z

z=12+18+9 =

Find missing w, y and z.
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Find missing w, y and z.

2 .2 2
52t =y
1993= y?
w= tan™ (5—&2) 2993 =7

|w "..'4 |g,ﬂ ‘a.'a G‘i-?l

tanz = %—

2- b (%)

z-114°

13+
tanw = 5;




